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5 S ABRLE 97y K% 55 % X3 TIMET |P| TIMEZ |P] BEST
CL | 1 T [BEX mm EoF— TRIBALZ & SDXLaJL F 7.32, 474| 02, 28, 016 0|2, 28, 016
PN [ 1 B T. T B {BMDLTA AL T |2,24,3810(2, 26, 037[0]2, 24, 381
7 | 3 |[&EW 59& T-OMEGA TAKUMIZEWORKR 1 & F 2,27, 2717] 012,28, 222|012, 27, 777
I | 7 |ZM % [T. T 25 SFKFF = 7,38, 698] 0[2, 52, 625/ 1]2, 38, 698
|5 [AF% % [T. T DLTAKUMI % CVT T = 7. 44, 841] 02, 41, 977[ 02, 41, 977
SDT [ | 7 |& E¥ [SKMC EAEEERITEBES T 7 |2, 21,604]0[2, 18,982/ 0]2, 18, 962
7 | 8 | F# |CMSCHEII|CMSC - -W SCFPXT+RX ___[2,20,068|0]2, 21, 056] 02, 20, 068
3| 6 (@) Z8A [T. T A EBE - b= J—o X |2,21,920{0(2, 24, 416/ 02, 21, 920
N [ 1 [ 11 [fir & |NAC FoOvF BRIG 59— |2,12 231[0[2 17, 755[1]2, 12, 231
2 | 10 [#A 3Fcak [SKMC YH-BRIG-e | f>5o9—]|2,18,040]1]2 13, 813/0]2, 13, 813
I 9 [N _ER [T1. 1 5 Y— 2,15, 385[ 02, 16, 804] 02, 15, 385
SD2|[ 1 | 16 [#M@m g8k |SAC SACS H— 2.10,750[0] R |0]2,10, 750
7 | 13 [RiX #BF [TSURUGI S5 oH— M |0]2 11,925(0(2, 11, 925
3 12 2@ ® [SKMC FRaF4o5o9— 217,716/ 0[2, 16, 197] 02, 18, 197
§ | 14 [Es ZEB [SAC EEM-S | RWSACS > H—[2 16, 548[0]2, 20, 405[ 02, 16, 548
51715 B % |CMSCH&EIN|CMSCEEREWCS oH— [2,16,782] 02, 16,552/ 02, 16, 552
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SABRL T YTy K% 55 % X3 TIMET |P| TIMEZ |P] BEST
1 [ 16 |#%eM S8k [SAC SACSoH¥— 2.10,750/0] R |0]2, 10, 750
2 | 13 [&:I #&FE |TSURUGI 5 oF— M |0]2 11,925(0(2, 11, 925
3 [ 11 [T & [MAC Fonov7 BRIG S29—][2,12,231]0]2, 17, 755[ 1]2, 12, 231
I | 10 [#& Fceh [SKMC YH-BRIG-e | f>5o9—]|2,18,040]1]2 13, 813/0]2, 13, 813
5§ [N _E& [T1. 1 5 oY— 2,15, 385/ 02, 16, 804] 02, 15, 385
6 | 12 =M ® |SKMC FRF4o5o9— 2,17, 716] 0[2, 16, 197[ 02, 18, 197
T [ 14 |[ES #B [SAC __ |EEM-SIRWSACS Y—|2 16, 548]0[2, 20,405 0]2, 16, 548
8§ | 15 ¥R % |CMSCHII|CMSCEER®EWCS Y — [2,16,782(0]2, 16,552( 02, 16, 552
1 ] |& E¥ [SKMC |EEEBEBHBEBEA 775 7 |2, 21,004]0[2 18,982[0][2, 18,982
7 | 8 |8 F4 |CMSCHEII|CMSC-W SCFPAXA5F«4«RX_ |2,20,068]0]2, 21, 056/ 02, 20, 068
J 6 |l %I]Eﬂ T. T JOABHHE- b5Hh=T—X 2,21,920(012, 24, 416( 02, 21, 920
I | 4 &R = [T. 71 EES{BMLIA AL T F |2, 24, 381(0]2, 26, 037] 02, 24, 381
5| 7 |Z2@ ®#%&E |T1. T 25 SFIKFT = 2,98, 698/ 02,52, 625/ 1(2, 38, 698
6 | 5 |AHF WiT |T. T DLTAKUMI 5% CVT T = 7,44, 841( 02, 41,977[0(2, 41, 977
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